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" Leamers fq) Engaged and actively involfedin process of fed
((;) Nelr prio knowledge is discarded and negated
) activitiog e telated to their contexty”)
(@3 ocus of lenming is repetition and p QEzabon:

- Sotioemotiona| needs of learners aptignored. 2E
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; children in the class
Assertion [A): Teachers should provide emotional support fo childterinites
effective 1 ing. Fave
Reason (R) Er:;::m ::-:Iu::fgnitiorﬂ&} related to cach other in complex WatS
ase the correct option, )
(1) Both (A) and (R) are false. () ion of (A
(Z) Both {A) andl (R) are true and {R) I_S:E:: correct i!xplanatmn_n (A).
{3)  Both (A) and (R) are true but (R) is gat the correct explanation of (A).
“ {4)  (A) is true but (R) is false. B
¥
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i Ghildren with “learning difficulties” typically,:
(1)  Have very low IQ as dingnosed standard intelligence tests,
(3) Have difficulties in reading due (o poor sight.
Have problems in regulating their ions.
(4) Have confusion with lettor and alpRabets that look alike,
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4. ::‘;11:}’11-22 ?ﬂ::;:::lhmg. N‘ﬂll!ml:_nl best describes the rale of the teacher in progressive edication 2
(2)  The teachs: i:nt:: the children on their own lo work independently. . o
Primary souree of knowledge.
(3)  The teacher Serves as a facilitator, {®)
(#) The !r.arher Implements the priscribed f"u&ﬁ]um fas it 1¢’
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Which of the [ollowing is correct in confext of pifted children 7

(1) Gifted students learn at comparatively advanced pace than other students,

(2)  Gifted children are free from risk of leaming disability.

(3) Gifted children certainly excel in all areas academic, social and emotional.

(4)  Gifted students are always happy, popular and well adjusted.
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5 per Jean Piaget, pre-operational stage is chagacterized by abilities to perform :

(1) Symbolic play and animism (AP Classification and seriation %

Conservation and abstract thinking  (4)  Imitation and reversibility
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s the primary purpose of asking critical

0 encourage students to memorize inf
‘enable students to develop procedural lefdwled g

To assess students” knowledge and unde ing sldlls,

To promote higher-level thinking and prdmvsolvﬁg skills,
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8.

9.

10.

11.  Which of the following statement about develdpfiient is correct 7

? Emd;ty totally determine an individual‘s -

I) X (i) Genger

(iii) .'f\cadmnic Success (iv) Ii‘e} rhing Style i

(M) (i), (i), (iv) @ @ @ (i ) @), i), )

SRR K 70 A v syt 5 Ca P et #1
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(i) Haforen e (iv) mﬁjﬁ et .

(L) (i), i), (iv) 2 G (34 (i) @ (), (i) (iv)

Growth in height and weight of children is an gxdmple of : '

(1) Change in cognitive domain (2) éﬂ'aﬁtita[ivc change

) ] Qualitative change (4) Change in affective domain I
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According to Lev Vygotsky, children regulate their own behaviour through the :

(1)  Use of self-reinforcement (2) Proeesses of adaptation

(3)  Use of inner speech (4) P’;}f“ of equilibration
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(1) Different aspects of development are indeppndent to each other,

(2) Development is a discontinuous process,

(3) Development occurs in a spiral manner, not lincar.

(4) Development proceeds from specific to general,
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~ Which pedagogical approach would be ad tedcby teachers who fi believe
~ to teach concepts of floating and sinking ir?ﬁ] by:hlld:en ;v e
(1) Guided discovery
(3) Showing videos

Lecture method




2)  Gender stereolypes
(3) Gender discriminations e

4)  Gender identity
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In an inclusive classroom : = :
(1) All children follow same curriculunh-anll uniform pedagogy is adopted for all leamers.
(2) “Special children’ always work on theit own curriculum.
(3) Al children have access to and are ificluded in classroom activities,
(4)  “Special’ children are looked upon Eﬁnd}r and dependent.
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According to Lev Vygotsky's theory, which of the following is a recommended approach in order
. lo optimize students’ learning experience ? Tl

}"(1] providing students with work that (I can manage and complete individually.

2)

providing students with work thal-is completely unrelated to their current level of
- understanding, i

(3)  providing students with work that @t beyond their current level of understanding, with
A appropriate support and guidance. J |

(#)  providing no support to students and leaving them to struggle on their own. %
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When presented with Heinz's dilemma, Arunima reasons -
circumstances. Taking the drug in this situation isn't really ri
Which stage of moral development is Arunima according to
Instrumental purpose and exchangé £
(2) Social concern and conscience
(8) Morality of contrast, of individual
(4) Orientation towards punishment
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“The law wasn't set up for these
ght, but it's justified
the theory of Lawrence Kohlberg ?

and of democratically
dience accepted law
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While some children start babbling anrt;-u%mﬁng two word sentences at 12 mg
others don’t do this tll they are 20 menths old.
Development milestones are only sug_aeshve and development of indiyg

18, Assertion (A) :

Reason (R} :

children can be quite varied.
Choose the correct option. L{'}
(1) Both (A) and (R) are false. (@D

(2)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(3)  Bath (A) and (R) are true but (R) is not the correct explanation of (A).
4) (A) is true but (R) is false,
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19. Which of the following is ngt a characteristic of a well- formulated critical
(1) It promotes higher-level thinking and problem-solving skills,
(2) It is open-ended and allows for multiple answers.
(3)  Ttis based primarily on factual information,
(4) It requires analysis and evaluation of informatiGlC)
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Assertion (A) : Teachers should constantly examine their own attitudes and biases while working
with Chﬂd_ren, : "

Reason (R) : The process of problem-solving is hindered by functional fixedness.

Choose the correct option.

(1) Both (A) and (R) are false. 4

(2)  Both (A) and (R) are true and (R) is the correct explanation of (A).

Ei; ‘f:]th (A) and (R) are true but (R) is not the correct explanation of (A)-
is true but (R) is false. (@ & ;
(A) Tl ) st 3 e o g o e e e 3 gfien AR F A

At ey () . ;
SHITUT (R) : - TN i S e e 4§ afed €
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~ Assertion (A) : Classroom pedagogy should be culturally responsive to meet the needs of students
i from diverse cultural backgrounds. ;
Reason (R) : Equity in classroom can be ensured only through standardized curriculum and
| assessment.
- Choose the correct option. )
(1) Both (A) and (R) are false. i
(2) Both (A) and (R) are true and (R) is Monect explanation of (A).
(3) Both (A) and (R) are true but (R) is not-the correct explanation of (A).
(4) (A) is true but (R) is false. Y
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| & Faert g atgl < O ,
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(A) 78 & fE (R) T 2 :
" Howard Gardner’s concept of Intelligence implicates that :
(I-;;M intgnj;eme is only about “practical’ | g
(2) everyone processes and m@sgﬂﬁd in the sane way.
(3) human beings differ in their abilities indtfferent domains.
(4) intelligence has only one dimension. | o
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que for meaningful learning ?

the following i n!\'m LI‘fLLtwc;nm(-rEcr:; ::.(::;r“;
Which af the folle 5 :
”}‘ L s ::‘:.]"C‘; o E&] Ct'}n:‘opt Mappin
f{_ ] J\lne:-u g #mwgmﬂ
5

(1) e AETH /f:.) = 9 2

q)  Tgfa HEEE fafirt (4) @:ﬂ =

(3) f rcpreseﬁ?un of concept is in accordance with

Whn.h of the following sequence o

ties 7
dual development of cognitive abili
5 u:\,—mlml based, image-based, ncﬂnru-bamg;?j

(1)
tion-based, image-based, symbol- by

rf f; .rln:;;e -based, symbol-based, action-based—
(4) symbol-based, action-based, unage-bas 1
Frefatan 9 9 m#mwm—mm@fﬁm &S] % S o
(1) Hha-amaiia, sfa-smufE, - mﬁam i
(2) frar-smafm, sfa-snafm, SFq-anafe
(3) SfE-snafiE, HHq-anefE, fFma-amatE

|- U, foR-anei, efa-smenfe
Assertion (A) : Teachers should focus on asking questions in classroom and encouragi

also to ask questions rather than glvtng instructions.

Child-centred pedagogy means giving opportunities to children’s v
ensuring their parumpatlon(o
Choose the correct option.
(1) Both (A) and (R) are false. (8]]
(2)  Both (A) and (R) are true and (R) is thé cotrect explanation of (A).
(3) Both (A) and (R) are true but (R) is nolthe correct explanation of (A).

(4) (A) is true but (R) is false. e :
s (A) : Wﬁmﬁm@%wghwmﬁiﬂatmﬁﬁ

Reason (R) :

Wreed FeA e N

T (R) : m—%&aﬁwmaﬁigﬁﬁaﬁmﬁmhm
= Hife HE

& e 1 |

(1) (A) M (R) 2 7era &)
=) (A) ST (R) =T &t & 3T (A) T (R) =t = o 2

(3) maﬁhmmﬁﬂsﬁﬁrﬁﬁmaﬁmmﬁmﬁﬁmtu

(4) (A) W & W (R) Tom

Jagriti has learned that her dog, R men

looks similar E?Rust; buterm aog, d:.{f:::nyt :reeﬁ,a Fhe mﬁﬁe:e;ngmm;hc:mm 5

theory of cognitive development, which ¢ this demonstrate ?
(1) Assimilation (2) Jocentrism

(3) Object permancnce

SR i1 91 =l 7 & ok s
fewm & @i wwmwﬂ’rwaﬂﬁmmtm St

& SFTAN TE faFw srwmon 3
(1) =nmEeT {2}
(3) a% wfyE (4)
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- Feral children, those who experienced severe (human) social deprivation since very young age
usually have delayed or hindered development and despite rehabilitation the improvement in
u:_erln.nlx domains of development is likely to be subordinate, This period wherein development is
significantly influenced by E'Wil'ﬂnlm‘l1ii!l_'§l1pporr iscalled .

()" sensitive perio (2_3':-, deductive period
Lé% native period h
@ﬁﬁ#@m@ﬁﬁw (WTe1) ST s 1 s o 8, SR T 3k faenre | 24

W@nmm&mmﬁw o D Gl guR e @ 1 EuE 81 T s
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J;’J' ST sy R e afe
SRR L @) 7 =

. Repetitive and ritualistic behaviour is an identifying characteristic of :

(1) Cerebral palsy
(2)  Autism Spectrum Disorder
(3) Learning Disabilities

- (4)  Attention Deficit Hyperactivity Disorder

.' WHWWWWWWW%?
(1) wRes vamm =57 o

R el w famw &)

- (B) T e N
(4) A =Ea e . L)

Which of the following would support r:qf?gmous and comprehensive evaluation ?
(1) Standardized intelligence test ! (2) Best works portfolio
(3) Growth and learning progress portfelid  (4) Standardized achievement test

Frfafan 4§ 4 Fi-m1 e sik = gediam 1 s 5m 2
(1) TE=HiFa qfg e - (2) wdHS FH SR
y-aﬁ;aﬂzmﬂmmﬂéﬁm (4) TEEIH IEter Titem

Which of the following is correct about the process of learning, according to socio-constructivist

theories ? :

(1)  Learning is a social process of mea '_'..;? making,

(2) Learning is an individualistic procebs+at occurs in isolation,

(3) Learning occurs only in a classroon.er mal educational setting,

(4) Learning is a passive process that ofcurs solely through observation.
mﬁwmwﬁfzﬁ%mmﬁm&aﬁnﬁﬁﬁﬁ%ﬁmﬁﬁﬂ#—mmm%?
gy afem a1 fmfor ) o A [
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PART - 11 /4171 - 1l
MATHEMATICS / TIfore
Direction ; Answer the following questions by selectiig the correct/most appropriate oplions,
Fder : Frefeaen sl % 3w 37 % oy ad/mas Saga fmes 3R

31. 12 thousand + 13 hundred + 2 tens is equal t-'.'a"':wj‘i

(1) 121320 (2 12132 2y’ 130132 (4 13320
s RFW A1 2 T@EHE: _j
(1) 121320 @) 12132 @y 130132 ) 13320
) )

32, One crore is : C:O
@y () hundred million (2) tenmillion ~ (3) onemillion  (4) one billion
° TEEIEY;
() = fafe @ T ) (4) uF fafem

33. Which of the following resources is best suited to explain the concept of decimals 7

(a) Number Chart , () (iéhes Blocks
() Taylor's Abacus (d) GFaph Paper
Choose the correct option : (j:‘:

(1) (a) and (b) (2)  Only (b) @@ ® and (d) #)  (a) and (¢

Fefafan 5 2 #-a mmﬁwmammm%v
(a) Fem=r (b) %m
(c) R = iy - Jéd} o

ﬂiﬂ ﬁrﬂﬂﬁ s b
{V@“M’ @ ¥ O O @ @M

34, Which of the following letters ha @Ime of symmetry ?

M x @ L @D A 4 M
mﬁaﬁmmmﬁaﬁﬁmmmm
1 x 2L @ a @ M
SPACE FOR ROUGH WORK / 7 wrd % fom s
' O
o s
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In a certain week, the numser of patients in a dental clinic was as follows :

Monday 5 L
Tuesday a8 -
Wednesday 45 :
Thursday 18
Friday 36
Saturday 30

Based on above table, choose th,
(1) Total number of Ppatients
(2} Range of the data is 27
(3)  On most of the days, number of patients was more than 30

(4) Difference between the number of patients on Monday and Wednesday is 20

(PRl e 0 0 fieons et 24 i e o

€ wrong statement ;
was 200

[ & | wotwiven |

AT 38

RS 435

geefaam 18

AR 36

BIEE 39

0 Aol & SR T, T w9 ) g
Y i gmdenaod v
() S 27 o0

(3) afﬁ:mﬁ#f#nﬂﬁm‘rgﬁrawm :_‘ “t
4) maﬂtwaﬁjﬂﬁ‘laﬂMHﬂm 1
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36. I x: y=p :q, then which of the ﬂ_\ﬂnwing is true ?

‘ tyiy=ptq.q (b) r—y:y=p-q:q

{[1-‘: :_-ﬁ:ﬁ::i & (d) 1'+5"-‘-1’—5|'=P—(-]:p+q

(1) (a) (and () (2) (a) and (b) (3) only (c) (4)  (a) and (q)
A x:y=p:q, 7 Frelafa § 3 - 27

(4) xty:y=p+q:q M *¥iy=p—q:q

(@ xip=y:q Y i Xx—y=p—q:p+q

G OOk @ @mOen e Wo g e -3

37. Which of the following Indian ma%nalicians are known as foundars of “nyg
analysis’ ?
(i) Ramanujan L5} Bhaskaracharya
(i) Varahmihir (1), Aryabhatta
Choose the correct option,
(1) (i) and (iv) (2) (i) and (i) (3) (i) and (iv) (4) (i) and (i)
mﬁmﬁﬁh%ﬁmﬁ‘mm'#m%

T H T R 2
(i) T (i) TR

(ii) FEfAfE (iv) =mivz

?ﬁﬁﬁiﬂqﬁi

M0 o) gaka E% ® @@ @ @t

38.  Which of the following statement(s) is/&ra Brue about numbers ?
(a) Al positive integers are whole nufnbers,

(b)  All whole numbers are integers. _ s

(€) Al rational numbers are real n §

(d) Al irrationa] niumbers are real :%5

Choose the correct ophon ; a )
D i@ @ oy e 808G o 4 @ ®) () and
#@aﬁﬂsaﬂﬁqﬁvﬁgﬁﬁﬁawﬁmmﬁ/ﬁ? . ’
(@) A AT o, 0w E |

&) T i Heg gt w &

(€) | wﬁﬂammﬁuﬁﬁﬂ‘{ﬁ

(d) Y s1frie et amf T L |
O OFd @ e O) @ s © :

SPACE FOR nonc?:l&onx/m wd & fo s
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The main approach suggested by National Curriculum Framework (NCF) 2005 in teaching learning
of mathematics is : g

(1) Constructivism (2) Instructivism (3) Pragmatism (3

W ST P o T e vy 2005 4 oo ¥ fo T E

4 e (2)  foeEE (’-?'S"irrmﬁ‘ﬁﬁ? (4) SHEEEAR
~

Students in a class are solving questions based on p:’rcantagc discounts, One question requires the

students to calculate the co. ; e S P \+ch bike. One of the Broups
st of two bikes, witl a8% discount on ©6% = thod used by

Behaviourism
A AR

ca!L‘ulatES t!m total cost of the bikes and then deﬁ&c&i 16% from the total cost. The me
this group is : £
B il
(1) Fa{l:f. since they have deducted 16% fror 81} total imstead of 16% from the average of the
total. .
&)

(2) Correct and is the only way to calculate the discount and cosk
(3) Analternate strategy to solve the question.
(4) False, since they have deducted 16% discount from the total instead of 8%.
Wmﬁmﬁmﬂ?ﬂmwﬁaﬁaﬁt%%t@mﬂmﬁ%aﬁﬁﬁﬁmwéﬁﬁ
ma%@#mﬁm%wﬂmm#m%nwwﬁm%
Eﬁwmmm%mﬁﬂﬁﬂﬁﬁﬂwmm%;mwmﬂﬂﬁﬂ%ﬁﬁl:
A thmﬂmﬁﬁlﬁ%mﬁﬂ@ﬂlﬁ%ﬁaﬂa%ﬁmﬂﬁl
() A A T TR A W O A T €
(3) T F T FE A Ao FA ¥ by

(4) e € ElE I el ged @ S%ﬁw@qzmm

While teaching equations a teacher explains the @’Zgzpt of a linear equation having unique solution.

She further asks, “If a solution is given then how many equalions you can create” ?

Choose the correct option :
(1) Two equations (2) One equation (3) No equation (4) Many equations

mmwmmwmmmﬁmﬁm%| % S Yol &
“mmﬁmwﬁﬁ?mﬁmﬁmﬂmwmi“?
q) dwdwm Y (@) T EHET @ e T () A s

SPACE FOR ROUGH WORK/ T i & faw e
P

9565
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42, Two columns are given as shown below :
Column = Il

Column « | ;
(a) face of a black-board () two end points
(b) aline has (if) one end point
(¢) aray has (i) _represents a part of a plane
(d) aline segment has (iv) !f%’deﬁmte length

Column = I and II are matched as :

(1) (@)-(i), (b)-(idi), (c)-(iv), (d)-(ii) 1;1-1,1
(). (@)-(ii), (B)-(iif), ()-(i). (d)-(v) ¢ 55
(30 (a)-(idd), (B)-(id), ()-(3), ()-(iv)  —
@ o)), B-v), o) @6 =
Awm I E =
w1 =~ Ww-n
l"-_ 3
(a) YA W U e () A g e
(b) U (i) v s fag ¥ 4
© TFFmE (i) O A 1 U W T e 8 ©
(d) UF @ F (iv) -t fifem s = A T g
w1 w1 fiyem #
(1) (a)-(i), (b)-(ii), (c)-(iv), ()-(ii) -
(2)  (a)-(i), (b)), {0)-(), (d)-(iv) 13
() (@-(i), (b)), ()0 (D-Gv) €55
A ), o)1), (), @6
43. If (7 * 2) % (123) = 92496, then value of bis 3
e @ 2 —= 3 1 4 4
A (7 2) % (123)=9249 ¥, & *+ 71 wHE 2
5 @ 2 = 3 1 ¢ 4

v
44. Saumya joined her job on 13-01-1992 and she took retirement on 31-03-2023,
service was :

1) 31 years 2 months and 18 days  (2) 30 years 10 months and 19 days
(3) 30 years 9 months and 18 days  (4) 31 years 2 months and 19 days ]
#IE 9 13-01-1992 %1 A F1 M P 3 31-03-2023 | 35 FArta @ ot w
ot - 5
317982 T st 18 fem 7 /@, 30710 E o 1g i -
(3) 30@domH iR 18 g 7 é}g 31742 7 3 19 T

SPACE FOR nﬁ&honx /T % for,

gy —_
Y \'vﬂ?g, (:'-J
s e w*
f/v‘z 8 [@e) N
»,.:T .”{.
L LT TR 14

-



B i I'tll'l'l'l"lf_\:' imii\-idunldil‘femncc's of students in the mathematics class, which of the following
assessment technique will no e approprintey

2,
(1) Peer assessment (2= Summative assessment
(3) Formative assossment

s 31 2o Farr i e gJEQB*;gﬂf;;“C. B Ay S AT A S0
2

'(En R : )

R Which among the fu]lowing is/are true Abeut the computation in basic operations for Grade-Il
learners ?

(a) Itinvolves child's ability to develop informal strategies.
(b) Itinvolves child's ability to estimate.

() Itinvolves child's ability to do calculations with large numbers.
Choose the correct ophion :

(1) (a) and (b 2 i 4) (a) and (c)
w-n%mq;ﬁaﬁé:%mm g)aﬁ%n;%qﬁqu%wﬁ%ﬁ—mﬁmiﬁ?
) Wﬁﬁﬁmmﬁﬁr&fﬁ@%ﬂﬁﬁmmﬁl

(b) T T S ST T # e A

() ¥HH T HEH F W vee w3 SrA= F1 A W
Hﬁ‘ﬁﬁﬁwgﬁ: u'J
) @IE) () FE( %ﬁ) mM© @ @E

7. In a mathematics class a teacher explaing"the concept of different angles. He/ she realizes that
5Cissors is a best example to explain :

(a) Vertically opposite angles (b) Linear pair of angles

{c) Corresponding angles (d) Alternate angles

Choose the correct option :

1) Mand© @ @and®) () @end @) () and (d)

wifure s o o o= fum 10T #61 srmvron w1 FEEEy/ A E S g sl ae § e S

- = wHEM o fon wEten e R

(a) SimuitaEE wm =1 fas g
(c) T M (i e
ﬂﬂ’fﬂmﬁﬁ: -

@ (b3 (2) (a) 3 (b) Vol (a) 3 () @ (© %R @
SPACE FOR muc:s%ax/wwd % foro

»

: ; y C
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1233210 + 5555 — 222 is equal to :

(1) 3 ) 1 3 o0 (4) 2
1233210 + 5555 — 222 = ¥ : e
(1) 3 };) 1 (3 0
Qe T i 'T1. e
i — e, 2 Dind ing order is : ]
Arrangement of fractions Tl AT in E% g el
g 1 3112 13 12 1 1 12 3 '
Nye7s @ 575 21 éﬁi’ 7'3'9'21 B g 7' n
S E,Eﬁmmﬁmmﬂﬁ@mﬁz q
937" mlien :
12: 3, 1 S5 dowlq 22 g i 12 3N
W oeiys & 7y e 7@ van b g7 213
One egg has a mass of abaut&Sg,whatisthemassc;tZdozeneggs? N
(1) 1kg5ddg (2) 156 kg (3) 1kgs56g (4) 1304 kg
T 378 1 20 T 65 g #) 2 T S 1 5 e 2
(1) 1kg5a4g (2) 156 kg ((sar 1kg 56 g (4) 1304 kg

Which of the following represents the featunesr mathematics laboratory ?
(a) Itis a place to enjoy mathematics throu ormal exploration,

(b) It provides Opportunities to prove mathmcal theorems through experiments,
(c) It provides opportunily to make conjectufe§jtest them and to generalise observ
(d) Ttis used to assess students’ knowledge of mathematics and grade them accord

Choose the correct option. —
M) Band© () () and (@) @and (©  (4) (b)and (d)
H 1 VI T T 7 1 frfm s 22 a3

(a) wmﬁaﬁm%mﬂﬂmﬁmﬁ A 2
(b) wm%mmmaﬂmw%mmmam e
(© wﬁma&ﬁ,mﬁamaﬂt%@whﬁmmﬂmﬂmm#mm
(d) ﬂmwam%-mmmm#mmmmﬁﬁ

ST o
A B9 @ @k QnOFO @ @arE

SPACE FOR ROUGH woﬁ % & & e o

_sob’)@



National Curriculum Framework For Foundational Stage (NCFFS), 2022 h ighlighted tHe importar

of the followi " ]
SWINE components while teachifif dn abstract mathematical concept :

(a) Written Symbols i tract
AR S S
ﬂllﬂ)ﬂilgﬂzn:;::;[[:gi‘:::tg ;.; the appropriate s ce of these components while teaching an abstr
1) ® - () (d) - (a)
(2 — (a) — (d) — (b)
W{S) ®) > (©) = (a) - (@) {4}-1"13 - Efi]} =¥ {{a} — (b) .
Wm%m.' =T S e ( HIH TF TH), zozzﬁ-aqﬁnﬁlﬁmmﬂmsrﬁﬂw
o * e T ST oy
(a) Fotfem fo | Lo s
(©) Ae - =Tt =l @ Fm
ST TV STAMRON % fevem 3 w9 o wew @ F-T Frefeted S99 F9 7
et O- 056 @ ©- @@=
(3) [b)_’['i)_"(a_)"(d) @ ©- (@ -0
1
Raju has turpentine oil in 5 containers ea 0 L size. He fills them in 10 cans of 5 L, 10 ca
2 L and rest in 1 L cans. Number of 1 L ¢ ad is*
i) 28 @)/ 25 13 30 @ 22

T & U WO 20 L AR S 5w e §1 3E3 $@ 5 LA 10 A, 21
10 FEFAT ST AR 1 1L 91 S 8 9| 19 e e ©
(1) 28 @ 25 L@ 30 (4 22

Which of the Follow‘;r'\g learning experir% for children does @eﬂect the contributi
mathematics to everyday life and society ?
(1) Play small group games that draw dnmathematical skills and concepts.
(2) Communication of mathematical ideas in writing using both formal and informal lang)
(3) Meeting people from different areas of employment and exploring how they use mathes
in their work.

(4) Collecting, organising, representing and interpreting data in day-to-day life.
Freifetas 5 © 7= % feu S | AT SNA FHE A S S H e & AeE 1 it
FA &7
(1) SR WyE A T A et 9 o T STEHTCONE T S w1
) ST TE AT S 2 v el o fefea 9w

(3) e % fmr-fiaet &l o < | ST 4 TR & 3T v nfve v fE

HA B
(4) éﬁmaﬁaﬁaﬂam_ﬁmmﬁaﬁmmﬁaﬁammmm.
SPACE FOR noucn@nxn@sw& & fom s
LD - 1,-0 2_

o et 0.)
o 0
q}’\‘ 0
# ra L
\ L »
g N~

| o |
P4 A [£ e :



55, 22 hm 8 dam is equal fo |
(1) 22080 m (2) 22800 m ¢(®) 2208m (4) 2280 m
O
22 hm 8 dam =TT 2: (j:_:‘
(1) 22080 m /{ 22800 m i@l 2208 m (4) 2280m
%;
J

56. A mathematics teacher discusses the CUﬂcg;]C'f OPEn am?l closed curve in ¢
understanding of students she gave an example with four points. If the curve is

of four points is :
(1) Three of them must be non-collinear  (2)  All are collinear
C.el Three of them must be collinear

:Wﬂﬁﬁ?ﬁ%l ferenfefat =t i
& 7@ = fage i fefa & -

(3) Two of them must be collinear

Tifor 1w ferferert an 4 fage wd H90 9%
7% AR fagsl & me v qe 3 §1 aw ;

(1) 8 A s 7R e E" ahdae
(3) I & HE A Ay % STH A T e B3

b

57.  Two angles of a triangle are 50° and 30°. Then, the third angle of the triangle

(1) 80° /ezr 100° B a0° @ 60°

i -II
T S % & i 500 s 300 ¥ Hﬂﬁ'ﬂﬁgﬂmaﬂw%e
_n Ul
(1) 80 @ 1000 - 40 Ly gt
SPACE FOR ROUGH WORK /1% #1d % e o
i R N
oo
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Ahic ZV R : T iz pyel:
Which of thf I'nllnwmg Are corrpel examples of the statement “mathematics is hierarchical in levels
that are Ingu‘ally Stuctured” :

L )] Lirad
(@) The concept of intepers ﬂL‘L‘dsfcvjqe developed before the conc ept of multiplication and division
of numbers, \J ES :

S o)
(®  Multiplication folloyws and builds on the concept of addition.

() Number sense neegs to be developed before the ERIC0PL of acition and SubSACToN:
Choose the correct Option : ()

(1) only (t) B OB 6 Hedg @ @and@ ,
W“’Tf"m“Wﬂﬁmtﬁkmwamﬁ"ammﬁ”ﬂw
T & ?

(@) Wﬁmﬁmﬁ%wmmﬁmmﬂﬁmmﬁwwm
) W.maﬁmmmnmﬂmm%mwmﬁ?ﬁﬁm%h

(© Mﬁﬂaﬁmsﬂ:mm@mﬁ@mmﬁmﬁ'@
w@ﬁm‘gﬁ

h
(1) % ) ) (am@ B oG @ @
— i

The difference between the greatestand smallest 6-digit numbers formed by using the digits 5, 1, 0,

3,9and 6 is :
(1) 851731 2 8617417, (3) 862731 (4) 951741
1 5,1,0,3,9 meﬁﬂmwaﬂtmm&@ﬁaﬁﬁmm HRT -

(1) 851731 12 861741 (3) 862731 (4) 951741

). The missing number (?) in the following
43,47,53,59, 7, 67,71,73 is :

1) 65 @ 61 [\ @ e @) 63
43.47,53,50, 2, 67,71, 73 & Qe (7) % -
(1) 65 Al ® ) I s 4) 63
] _"&—
B SPACE FOR ROUGH WORK / T w74 % for g
O .
o %5 31C
\.{
5, D29 ¢
foe 94 5‘9L o)
Ml}plllil 8 19 lo25e 1 S S 1
N T e
B4l Ty!
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PART - |

ENVI RONMENTAL STUDIES /
uestions by selecting i'{u: correct/most appropriate options,

Direction : Answer the followning fling ;
frder : et Wl & TT 47 3 fore wdhae S e ST

i o d (Bl-=,
~aneider the following statements (A) an :
61. :I:rl‘::;pn{ {A) : Crows build nests on very I ~Bram.hes‘an a tree.
3 Weaver bird stitches two lea¥&5to make its nest.

Statement (B) : _
Selec oo m the following : [ [
;:l!u‘[:]]‘:i;‘:?—rx:g b‘:‘: [f;-]‘ is correct. (g) 'ﬂ,_a.nd (1) hc;l‘.h alr; Fcﬂ'ect.
(3) (A) and (B) both are wrong. (4) }1& correct but (B) is wrong.
3 faw T FuA (A) F (B) T AR I

U (A) : ﬂmﬂgaﬂﬂgﬂﬁmmm%tl
e (B) : e it €1 THi it i a1 seen @ €

frfeifias | | wHl 15 I
(1) (A) e & ueg (B) wE E (2) (A) 3 (B) FF
A3)  (A) 3l (B) 24 e ¥ (#) (A) % & 9 (B) e B
62. EVS at primary level is recommended to bWs&cted in an integrated approach. 17

appropriate reasons are ; .
(a) EVS draws issues from subjects like Sci Social Science and Environmental E

(b) It helps in developing holistic understanding.
(c) It helps to reduce burden of students and-teachers.

(d) It is convenient to teach integrated EV!
(1) (a) and (d) () (c) and (d) (b) and (c) (4)  (a) and

e T gm0 U ug 2 i w0 % Ferwfn % o )

¥
(a) e fo 9 Wl ) ks s e o, o e e e Ry o
(b) a% W wHY T 0 F RS w B -
(c) BTl T farFl & =11 1 7 F4 § 952 01 T :
(d) T feied Ter A -.
A @f@ @ @ @y mERE @) @ g

63. Select incorrect statement about elephant her, the following :
(1) Male elephants of more than 15 herd an
(2)  Female elephants live in herds, i b Yo i and i
(3) A herd has 20 to 25 female elephants ir young ones
(#) _Male elephants live in the herd ill they ara 14 - 15 1 ears old,
werd 3 fawa 4 o e e = ) L © B

1) 1577 mﬁa:arg%mﬁs{va‘eﬁg%él s
(2) wfafi gusi & war &) - ' @mﬁ?ﬁ?l
) T GUEH 20925 el s A ta g —
(4 #1415 0 7 31 7 @t goe H A E)
al
PeL W 20




Ou Are 3 house
::::llr:-'rrlTll‘n:lall}i;:'l : ?-nd your school is located at Y. There is no straight path from Tf;"f.“j [j—--;,; :1
due west of A, then oo 82 10 A which is about 125 m due north of X, then go to B whic X hool a
¥ which is 75 m due bgey o 1h is about 150 m due north of B and finally reach your school 2
* whichis 75 m due east of C. With respect to your school at Y, the carrect direction of house at

(1) South east (2) Due North (e (3}  Due South (4) MNorth west

mmxazmhmmhmnym%| s e Y ey A % forg W T

3 H S Y W 31 remerg wdet & < s
xmmmaﬁwﬁmwﬁ:: 5 f%r‘ el -
@ e @ I ) dmafw g I

: = lan i ; i Fin ‘Y’ of India
the :fhl‘:ﬂ:- swori: 'TV}ELE 3 i:g}a: g‘mu: E :at l?mge number but is found only in “Y" part of
(1) Endangered TR
(3) Exotic ) g
T T e & St A i e 6 ey e # e farw A T %y S A
7% 70 WER # yefa #7

(1) o 9  wmow T
(3) fadeit wrfrF
b : o)
t from the following a group consisting.of alloys only :
(1)  Steel, Brass, Bronze (8)7) Brass, Bronze, Lithium
(3) Magnesium, Alumuunm, Steel @ Steel, Brass, Tin
ﬁmﬁﬁmwaﬁgﬁmsﬁ LRI
(1) =ia, 718, 7S (2) @, @, Mt

A3 A, ceffm, wi @) 3w, fm

An EVS teacher asks her students to imagine and answer, “What would have happened if all b
were killed at once from earth 7 Such a iom is :

(1) Philosophical question
(3) Hypothetical question

Convergent question

Divergent question

5 4l i o1t B e e ST 2 3 e s, e e 4 e e
= HiE AR fea S 2 iR v f il ¢

(1) w9 (@) sl wos

3 bict

[ 2 gl i



68, [Itis 7.30 P.M, in India today. Itis 2 P.M. of the same day :
o 8 5 7 f ]

(1) in Karachi (2) in Ltmdonco {3) in Japan (4) in Dhaka

Yrd ¥ 730 PM. #1346 A 2PML BT

(1) e gmd O @) =i (4) A
—

69.  Which of the following strategy promoles ifiquiry while teaching the theme ‘Travel’ ?
(1) Showing pictures of various plac interest in nearby areas.
(2} Asking students to collect picturesafvarious means of transport.
(3)  Asking students to narrate their or their neighbours’ experiences of travelling,
(4)  Asking students to make a digital presentation on vintage cars.
Fretferfian & & i 4t A ‘A ditn 1 ven T st () = A s
(1) -9 % &= 7 5 % fafie wa & g e
(2) B A e & fafis g F fa =i & fom e
3) = | I A1 I TR F A Yl 1 = = A F
(4) o gt R el gt fom e

70. A teacher follows the following methodsgWhile teaching EVS : Think-Pair-Share, Re
Tutoring, Jigsaw Strategy and Peer Revm These are examples of :

(1) Inductive approach i8]y Peer group learning
(3) Constructivist approach” {33 Didactic approach
£ e w e P Freffa fafi 1 are € s w5, T
PR, [T (Jigsaw) TR, HewEt qAam 3 saw # .

)1.)-- HITHATH 397TH (2) HEBHIS! W9E g HiE
(3) T=AHH 39T (4) YR SUE

71. Saleem and Raju are young school goers=Seleem likes to eat lot of fried food and ‘m
Raju on the other hand eats home ma

thy food but he never eats spinach and
leafy vegetables. Which of the followi ders they are likely to suffer from,
(1)  Pellagra and Anaemia 2 Scurvy and Anaemia

(3)  Kwashiorkar and Anaemia L)) Obesity and Anaemia i
AR S ] e A A o # 1 el ke g S & S v )
T A T GG R A A T RR afel w T
Freferfer & & gw: fg foaem @ e @ W 2y
(1) T i axifi (2) el i s

(3) FaferdnER s sifiga AT e si srifirn
P-4 W mw 22
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9. Map Re ading activity in EVS clasges develops certain abilities and skills in primary g
are

(a) Understanding relative Positions of plac

) Understanding directions of places (S

(c) Understanding symbols and scale (@)

(d) Drawing precisely according to the scalelpiips

(1) [0 B @ (@) and ()
[1] [b}f (C) and {d) (4) ) and {d)
Wmﬁfﬁﬂﬁfﬂ:mmﬁqﬂﬁfﬁ s el o PR F@ 1 AT

(p) T T Rt = e

(b) Wﬁﬂﬁﬁmiﬁ“m

(c) mmhﬁﬂm

(@) TR 3 SRR W st

(1) (b) 3 () Mﬁ) M ()

) ®) QM@ @ ) # (d)

. With respect to Telangana the respective Im% of Gujarat and Bihar are :
(1) North west; North east (2) North west; South east
(3) South west; North east (4) MNorth east; North west

. Those

eriential strategies in teaching EVS at primary level ?

(a) Discussion : SR (b) Demonstration

(c) &y E
(1) (@), b #ME
@) ®) (M



invironment in BVS means @
e (b) Natural environment

75.
(a) Man-made environment ) e
1) Social environment (d) C_ugura environ
{[;: (ﬂ:I{l;:‘},U{:'lJl:t‘r:d () (2) ‘(a)and (b) C&3(3) (b)and (c) (4) (a) and (g
Foie o watawm, sl __‘
(a) Wra e wafaT (b) Q‘%«'ﬁﬁ g
(d) Hfepfaw Tt §

ArifaE TaET
(4) (a) (c)

(c) e ‘
1) @) @ @R o (b) 3 (€)

Read the Assertion (A) and Reason (R) belo v 3 choose the correct option.
Assertion (A) : Travellers like Al-Biruni and datula travelled from India to different coy
Reason (R) :  Travelling led to sharing of ideas between people.

(1)  (A)is false but (R) is true.

(2)  Both (A) and (R) are true and (R) explains (A).

(3)  Both (A) and (R) are true but (R) does not explain (A).

(4) (A)is true but (R) is false.

Frefefaa sfumrer (A) 7o @wmor (R) #1 A §TE 70 W faehed @1 =g w1

s (A) : syt vA T S At T @t S e
FHTI0T (R) : A & A0 1 T & AR # T st e

(1) (A) 7o & e (R) &6 &) =
(2 =il (A) 3R (R) T & 79 (R), (A) FF : T
(3) AF (A) 3 (R) 7 & o (R), (A) 1 =00 @2 2

(4) (A) WE & g (R) Tom &) =

The EVS curriculum is framed within social constructivist perspective of
Piaget's ideas about children’s learning with his in-depth study of
represent the social constructivist perspective, :
(1)  Statement I is false but Statement I is true

(2)  Both the Statement I and Statement II are correct

(3)  Both the Statement I and Statement IT

(4) Statement I is true but Statement II is

L e T < v T e g €

77. Statement [ :
Statement II :

.- Lo
(1) I 9 & 9g Ha7 10 97 2 w0
(2) &A1 AR wYF 1 EH w9 L
(3) A1 ST He 11 26 sme § (@)
/w/mlmtm‘gmumtr _

Pt I 2




(ERT textbook of
h]":,:llr Idcpj:s lrihalnlile:g:dvm?;“? is a real story of Suryamani who lives in Tharkhand. t;l'fl;t'
::ll:? chapter relevant for students, Of Stiryamani. Select the most important aspects addresses s

(@) Papular perceptions and B s i -
W communities.

Close relationship b
() ose P between @t dwellers (communities) and forests.

(o Girls education how it charfegitheir 1i
) e

The forest products used by

@
@ ®and ©

@ ([®)(and @ ¢ @ @ mand(©
) m (4) (a), (c) and (d)

mﬁa@maﬁmmmﬂm i S %1 T T
S 3R TR 3 s - R 3 1 aeft o F T AEEE i

qre F1 T H Hﬂw'ﬁmtlﬁ%mmmﬂmﬁwmw
(o) P ST 5 et s, s et |
IR () SIS et it e o P <
(o e @ R S e e

=

(b) #E () Y
® @M@

. “Record how the seeds. from day 1 to day 10", Rita gave this task to her
students before teaching n ‘Ge ation’. She is trying to assess her students’ ability
fo: / ;

(a) draw and rep .lpredicthow germinating seeds would look like
(c) observe and from the given activity

(3) (b)and (c) ), ©)
T A A 109 & fafia | G 3 sigT 19 v | T S
faenferii %1 4% % T ST HTA R L E?

(3) (b) 2 ()

O [T T



A

81.

82,

L (T 26

ag because |
80. Mountaineers suffer nose bleeding at higher altitudes bec

(1) Blood becomes thick at higher nl\%ﬂcs.
(2) The pressure in blood vessels exceatls outside pressure.
{3) The pressure in blood vessels delcreases than outside pressure.

(4) The pressure in blood vessels eq%the outside pressure.
qﬂﬁlﬁfﬁﬂaﬁaﬂﬁmﬁmgmwﬂw@wmm%:

(1) S S T T

(2) mmﬁﬂmmﬂmﬁ%amh

‘/f.?) R Aferst § ZAT Al T |’

(4) T Sifeshrsil § AT AT 2 5 e g o e |

Which one/are of the following mouritdins is/are considered to be volcanic in origin ?
(@) Mt Kilimanjaro (b Fuj%u (¢) The Alps

Choose the correct option : m i
1) @ad®) (@ @ad@s () Gand(© @ Only(Q
Freerfian 2 i 1/ /e i e g & A ) &2 3
(a) IS feRferem (b) Hi% (c) JTeH FEa
T ey =94

M @B @ @M@ @ ©IE L

Roshni, an EVS teacher displays a data chart for how many seeds out of 20 seeds
green gram, Bengal gram and chilli inated. She asks students to explain.
in the germination rates of different occur. She wants to assess the skill of =

(1) investigation experiment
(3) prediction (% drawing inference ]
el W St o 3 T, 0 S, e < S e S 20 6 8 e

Ty U &1 T e favan | i 98 Geim fon : et
b i v e T s o fafort i =87 3

(1) s %, r
G = @) e Frae




erti ] Stori
g DL ries and narratives have been used throughout the EVS textbooks.
Reason : > E‘l];cllve is to Sensitise the child since he or she can ompalhm with Lhamclcrshl:
F
Ty Or narralwe— Textbooks should sensitise the child o W ide differences U
exist within our 0ciety.

q) The Assertion is false byt Rﬁasﬁn fitiia!
V) Both the Assertion and Reason are correct and Reason is the correct prlanamm of the

Assertion,

£
(3) DBoth the Assertion and Reagon-are correct but the Reason is not the correct explanation of

the Assertion.

() Assertion is true but the Rz?@ﬁ {8 Falne.

o : :;aa“;mwih—gmmamﬁmwww?l . T

T ¢ == H i # e 6 T TR T
q'aﬂﬁﬁﬁﬁMWT%mﬁﬁﬁ@wﬂﬂﬁ 35 e v < S

(1) TR ST ¥, Yo R W #

() SVIERET ST O S W i e, v # wd =

() AV S T S & i g, s 3 e v 7

(lﬁ') HIHRYT 9 mm@%1

'T—-J
On a Union Territory map on its apecorner following scale is mentioned.
Scale, 1 em=155 m EE

E».f . P trlsec;nlsn;;a;-:)rem;:\& ?m@vem two cities as 19.7 cm, the

(1) 30.5km @ 310 fms (3) 31.00 km (4)

el o2 ST SR T & U A v i few o e e

T, 1 em=155 m
uﬁﬂ»‘r{aﬁﬂsﬂnﬂﬁamawﬁ%ﬁaaﬁﬁlwmm%ﬁﬁﬁmﬂmaﬁﬂaﬂErr&rfﬁ*

actual distance between

3.05 km

B

(1) 305 km 2) 310 km @1 3100 km 4) 3.05 km
=

The volume of the earth consists following :

(a) 1% Crust (B} 'Man‘tle (c) 15% Core

Choose the correct option from the
(1) All (a), (b) and (c) : ea% (2) Only (a) and (b) are correct.
(3) Only (b) and: (c) are correcta® = f4) ‘Only (a) and (c) are correct.

yeEl F #Ead | ﬁﬁh\’@aﬂﬁﬁ @
(a) 1% T9& b) , Hedt (€ 15% %S
freaferfia # 4 WA faed 91 ¢
(1) @ (), (b) () @
(3) ¥ (b) 9N () WA

(2) W(a)aﬂt(b)w%r
I (a) S ) W E

A A Ky




and choose the correc t option.

B6.  Read the ; n (R
B e ater of Dead Sea even if they dﬂ

Assertion (A) : People can easily float on the surface of wi
know to swim. making it, the sea having 1."“.

Reason (R) :  Dead Sea has 300 gm of salt in one litre of water
salt concentration.

(1) (A) is false but (R) is true.
(2)  Both (A) and (R) are true and (R) cxplﬂn% (A).
(3)  Both (A) and (R) are true but (R) dose pdtexplain (A).
{-— ! 8
(@) (A) is true but (R) is false.
Frerfeafian stfme (A) 7o wmor (1) 3 Wﬂﬁm’m foed 91 97 ¢
AT (A) ;3o o A o E 5t g @ 0 ST § W ¥
T (R) : 71 ST 35 e 300 T o S § 0 8 T A T iy

(A®)

AR |
(1) (A) 7o # firg (r) W £ 4
D = (A) v (R) W E 9w (R), (A) F v ww

(%) 3 (A) v (R) 7 E 5 (R), (A) F) A
(4)  (A) =t & foFg (R) o B g}

@}

87. As an EVS teacher, you wish your students te-be aware of their own safety around adults s |
they (can take care of themselves and) do nnt&!}:rc}r to sexual harassment. Which step you
is most appropriate ? '
(1) Hold self-defence workshops for girl st@ts
(2) Teach them about POCSO Act, 2012

(3) Teach them to avoid strangers
(4) Hold workshops about ‘Goad Touch’ and ‘Bad Touch’

T SEICH e F E9 F, 519 =med ¥ o e ferened, T F AEIR TG T F G
aﬁé(mmwﬁm}zﬁam@wﬂﬁr FYFH HH 7 2 TEl

(1) o & T s S S A 1
) T W T, 2012 A A A, %
(3) % Frofal & 3¢ e faant —~

/4) ‘gz m-hm’twﬁﬁﬁmw@a’t

g b 4




gelect the group of poor conductors of heat from the following :

1 a) wool, Plastic, Wood @ Wool, Wood, Tron
@) At Waten CERREE () Atr, Wool, Aluminium
@ 5 T I WG o

Ty = i(ay, T, 7, TR

% names of different food

Gamar asks his students to consult their family members to find out the
e cooked by different methods like steaming, roasting, boiling, frying €1t
reason fOr this activity is to : it

encourage home work

The most appropriate

(1)
(z) encourage :

(3) improve soctalmaeﬁm
@ provide oppommlﬂa for children to work in groups
e % T 9 TSR SR 35 e e 99 3 foe e i & sfemn-n 7 & T

assessment to assess process skills in EVS.

(d)
ﬁﬁmmﬁmﬁwww

e

M) (@) o) A
A (), ()




PART - IV
LANGUAGE - | : ENGLISH
-1V (Q. No. 91-120), if .l;;,“

st P
IMPORTANT : Candidates should attempl i{ur.‘-llﬁ_!ll‘l-‘i from Pa
opted for ENGLISH as I.J_\l’ﬂt_fUA(-E-I only.
(he i : (91 to 99)
i auestions that follow :

Read the passage given below and answer the qduqumle. By the time he loomed up in front

ere flailing desperately like windmills,
¢ | might have followed his car j;

asty cases of hold-up

He must have seen us coming from sdiiie)
headlights, the arms in the snow-caked nverq{!z:‘l-..i:« :
eali aked at once, though gently. ©
i s s s: there had been one or two v

ditch. But immediately | had second thoughtsith ister, there
papers recently, Ili-:si!'t gu‘.ing to take any C[\anf____ e with Pat, my sister, there. | changed down ¢
) —

and made to drive round him. | S ; X head. ‘Too risky’
Pat ified. ‘Aren’t you stopping; Bill ?’ | shook my heac. Y4z
at was horrified. ‘Aren’t yo pping, Bil + across the road and was hanging nose d

It was then that I saw the car. It had skidded righ : Ly t t
the deep ditch. I braked again and brought the Mini-Moris gradually to a stop.

I slid back my window as he looked in and then I saw that he was bleeding from a cutin his
‘Anybody else in the car 7

"No, on my own. If you could give me a Lift’.

I nodded and he got into the back and slammed the door.

‘Sorry about this, folks. I was beginnifg o think I was stuck there for the night. Not tk

would call it a busy road, is it ?' i;:i
g round to smile at him. ‘We have been to z

‘Not at twelve o'clock at night’, Pat saiddxémn : :
in Boling ford. Bill didn't want to go, but I was keen, Heisn'ta bad brother, really’.

91. Pat gave a little gasp and I braked at once,

The underlined is a/an 7T o
(1) Interjection (2) Pronoun o (3) Preposition (4) Conjunction

92. Which of the following statements 1s nngd?uect ?
After slowing down the car, Bill hesitated as :
(1) in the cold, the car may not start again.
(2) it was a dark spot, so it might be a case of robbery,
(3) only Pat, a woman was sitting begidéhim.

(4) both (2) and (3) {_}‘1
93. Study the following statements : gil}

(a) Patis bold and compassionate. =S

(b) Bill is protective of Pat and not H

(c) A badly hit car was parked by e walk. i M
(1)  (b) and (c) are right but (a) is wrong: : ) ‘
(2) (a) is right but (b) and (c) are wr. :

(3)  (b) is right but (a) and (c) are wrong,
(4) (&) and (b) are right but (c) is wrong. iy

Pt AN 30 -



he Ii_un:‘l‘lE'iI up in front of | e

The underlined phrase means the same ast'.D

i looked up (2)  fell down oj’&) appeared (4) drovedp
N

gill was ravelling with : g

o aswanger @) hisbroher Cfy) hissster (9 e

which of the following statements is/are correct ?
) It was the dead ﬂf'ﬂish&@'-mmﬁeehg drowsy while driving.
() Thereien mowfall, and a ditch along the road so Bill was driving Very carefully-

(3) Because of snow, he was driving v ly.
@4 ltwas night time, so there was no tra the road, so Bill was driving ina carefree manne:

) wnght and (b) is wrong.
(3) (b)is right 4) Neither (a) nor (b) is right.

. Itwas then that
Identify the u

(1) Adverb (4) Adjective

(4) suddenly

LU




: w : (100 to 105)
Read the extract given below and answer the questions that follo (

"What dost thou do here ' the Bishop he "“"i'J;'_"';'I'_'J
‘I prithee now tell to me’, -
‘Iam a bold harper’, quoth Robin Hood, ==

’
‘And the best in the north countree’.

‘0 welcome, O welcome!’ the Bishop he 5nici,-:
“That music best pleaseth me.’
“You shall have no music’, quoth Robin Hood
‘Till the bride and the bridegroom 1 see’. o

With that came in a wealthy knight,

Which was both grave and old,

And after him a finikin lass,

Did shine like glistening gold.

‘This is no fit match’, quoth bold Robin Hood,

‘That you do seem to make here; (o ®)
‘For since we are come into the church, )
The bride she shall choose her own dear’. =
| &=
—
100. ‘I prith o =
I prithee now Lo

The expression means :
(1) I order you. (2) 1 prevent )% (3) I wam you. (4) I request you.
uJ "

101. Robin Hood met the Bishop : G2
(1) in the market (2) in the churchyard
(3) in the church (4) at his residence

(1) Hyperbole (2) Simile (3) Metaphor (4) Personification

102. Which literary device has been used in the expression - ‘Did shine like glistening gold” ?

103. Study the following statements : =)
(@) The Bishop asked Robin Hood ﬂm%& of his visit.
(b) Robin Hood pretended to be a m :
(1)  Both (a) and (b) are wrong. F2J  (a) is right and (b) is wrong.
(3) (b)isrightand @) is wrong. ~ L@) Both (a) and (b) are right.
O

104. Which one of the following statements i Thcorrect ?
(1)  She was not eagerly waiting for thé geremony.
(2)  The bridegroom was rich and handsome.
(3)  He was old and dull looking,
(4)  The bride was young and beautiful.

PO S0 32
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12,

o T

. Which one of the fol

, As a teacher of cla

of uxb’acti.lig

Loing to take place in the clitiyel

"]ml was v

V - aral service
4 SO | pneral service @ & i

ay sermon [4] = ba.pﬂs[n

]
\' : qund
gl

a Hindi speaking teacher, by area of

\I\::nl‘ since you do not know the Jocs
M potivate the community to learn
| 11 immediately apply for the transfer
l:] use the child’s ltmgunge as a res
o st S
ild does not write a paragraph on hér.own even after brainstorming the topic. However, ol
(s able t0 write it under adu.lt or PEEIS‘% This guidance is called .
1) Team teaching M) g i
) per teaching @ Peercounseling

t posted in a primary scheol which is in the
age of that area, you should :

Hindi speaking area.
start teaching,

[anguage acquisition occurs
(1) child has ew
@ child is taught |
child is given prag
) child is given o

(] A textbook is in
(2) A textbook is
(3) Ithelpstoa
4) Itisa 1:u]a.|'|.|:1.|:l:l§r
- g t'-ﬂ'lurnug'hly. Then you Akt
answer the ques :
students for
(1) intensive :
(3) scanning .
xt closely or intensely for the purpose

(@) Inferential

(I)  Evaluative i

”»
Deductive approi
(1) provide .
(3)  present .




113,

115.

116.

117.

118.

119.

120.

Pt (NI 34

. Excluding mother tongue in the classroom ,;;1‘:?-

estimating or guessing beyond the facts.

i 4) Inference
Explanation |}'_(‘?) Analysis (4)

is a way of

(1) Extrapolation (2)
met]

e characteristic feature of the —
Natural ) Bilingual (4) Audio-lingual
b se” § f the words
iate a chi L{ /brall language use’, though some o
You as a teacher appreciate a child for herrlv S appmiuCh e

(1) Direct (2)

misspelt by her, You are here using e

(1) Structural (2)L Whole language

(3) Communicative {4) { JQonstructivist

A language teacher must promote learners for free writing, as the key benefit of free writin
that :

(1) ecan incorporate features of written language from their first language.

(2) it encourages learners to write fluently and creatively.

(3) gives the freedom to write or not.

(4)  does not make them feel that they ha% write much or be totally accurate.

is a type of learning in which a!;:fd has to use higher-order mental processes sucl
—

intelligence or reasoning.

(1)  Structure learning @)L Verbal learning
(3) Concept learning @)% CMotor skills learning

X1
Which of the following classroom pracﬁcﬂaps a teacher to develop oral language a.mm%'
students ? i
(1)  Practicing the correct pronunciation of new or unfamiliar words.
(2) Chorus reading of the text with the teacher.
(3) Chorus recitation of the poem after memorising it.
(4) Participating in role-plays.

When we say ‘Language is arbitrary’, we théan to say that :
(1) Language follows prefixed principl

(2) there is an inherent relation between{the'words of a language and their meaning.
(3) the relation behvemwrdsmd&teirmnhgisb&sedunamﬁd-mmhjﬁzi&:
(4)  there is no inherent relation betweenitFélwords of a language and their meanin

The purpose of diagnostic testinhngtmge@'lh\g isto:

(1) Use the findings in the progress report’of students.

(2)  Plan and prepare questions for summative assessment.

(3) Momﬂ:epﬂmtsiﬂthel’%ﬂtd»kﬁlmtnpayaﬁmlim

(4)  Know the gaps in learner’s understanding and take remedial steps.
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PART -V
LANGUAGE - 1| ;: ENGLISH

-150), if they have

o -V (Q. No. 121
opted for ENGLISH o4 LANGUAGE-I only.

— . aa e
~ he passage given below and answer the N t follow : (121 to 128) L
gt perhaps the worst of the ordeals was to be égﬁc;n;e:renc?l room I’E:u- long, uncertain periods, In
- t.o.lfuulrmenl and complete silence, Gagarin-himself described the experience.
I rhere was no sound, not even the SIighte@sue_ No movement of the air—

Sy unnerving.”

oo wou Id shut his eyes and ima gine hi = Hspace{abiﬂ in orbit, looking at the world passing
neith him; or sometimes he would recite half-r bered poetry to himself. . 5

Then, came pn“’f-hl-lte hfai.ni;ng{ Gagarin made forty pal’ﬂChlltt‘ jumps of P;radua]l}' increasing
ulty.
One of the most interesting of the trainin 5 b d of providing experience of

: experiments was the method o1 P o
eightlessness. In the early stages the EXPr'esE liﬂpuf uw?pe‘;?hof_m“’ M@meldgng = Esfhde
From the munty-elghth ﬂOOr to the bottom ‘allowed a drop Dfmt_ At a‘certai.n‘hlg]" spee “Thi
4 ssengier “rm.'l]d find I'II‘lIrISE].f suspended between the floor and ceiling of the lift without support. 5
was a convenient and inexpensive way of reproducing ‘zero gravity’.
Special air brakes prevented the lift from g as it reached the bottom. :

On the morning of April 12, Gagarin r. £ 5.30. He was zipped i
sparf-ﬁuita on top of which Went a pale blue fibre st and finally an orange one. / 1
drove him to the launching site'in company with Varibus helpers, The gantry lift took him up 100 feet,
o the nose of the rocket, and he entered the cabiri (Rdmed Vostok) with a wave fo those below.

121. One benefit of travelling in the express lift to-Gagarin was that :
(1)  he could come down in less time. (2) %cﬁd not have to pay for it.

E\Tﬁﬁ TANT : Candidates shoylg attempt quﬁdﬁhns from Part

nothing. It was

diffec

(3) it was very thrilling. ; }9 experienced zero gravity.
122. Study the following statements : =
(a) On Apr_i_l_lg. Gagarin woke up at 5.00
(b) He wore a blue space suit. ¥
() He travelled in space in Vostok.
) () and (b) are wrong but c) i right.
(2) (a) and (b) are right but (c) is wrong,
(3) (b) and (c) are right but (a) is wrong.
(4) (a) and (c) are right but (b) is wrong.
123. Gagarin was a/an :
(1) paratrooper }'(2] € Space traveller

(3) adventure tourist }, ¢ Physicist at Moscow University

124 . looking at the world passing beneath hinil

The underlined word isafan - =t s

(1) conjunction (2 article (3) preposition ;ﬁf adverb

125. Study the following statements :

(a) In his private life Gagar  was a poet.
(b) In the experimental dai Ay ;

(1) Both (a) and (b) are right (2) (a) is right and (b) is wrong.

A (b) is right and (a) iswrong.  (4) Both (a) and (b) are wrong,

P AN N




126. “.... and he entered the cabin’

The underlined is a/an ____ clause, X s, o Adverb
(1) [Coordinate (2)  Noun t[".}] = Adjective (4)
127. Gagarin was shut up in a dark room : P
A1 to feel like in a space cabin (2) as-pdnishment
“ (3)  to meditate (#). “e=cHTy experiment
128. /. a convenient and inexpensive way , . .’ -
Choose the word nearest in meaning lo the um.l.lf:_r_.lined one. N B
) cracking (2) contrite (&) J cordial ) 2

: - : 135)
Read the passage Biven below and answer the quéstions that follow : (129 to , ;
My home town in the mid-1 970s was a laid-back place, resembling a remote rural area, except i

having some amenities, Our house was almost at one end of the town. About 15 km away, there was g
small village where a fair was held for a week every year during the harvest season. The village deﬂ}_‘
was worshipped many from the places in the vicinity. .

Dﬂ'ﬂtj;'-;:: thl:znged }lhe fair nnit: only for divine blessings but also for watching street-shows ang
other entertainment events. Only a mud track led to the village and everyone reached there by walking
or on bullock carts, - ; : -

My father, an advocate by prdfession, was populaf among the villagers. His clients from the PI“‘Q
used to arrange bullock carts for us and a few family-friends and relatives to attend the fair.

The journey would start early in the morning. “We children will be in a 'sépmbe‘cart I used tg
eagerly look forward to this occasion every year asthough it was a journey of a life-time and Warth
“njﬂ}'mg'w‘nr}- minute of it. Money saved for this fairwould be tucked firmly in my pockets qluri‘ng Ene
journey, Whenever the cart jerked or sped away, | watld hold my pockets tightly so that coins :wou.l@
not spill out. S REE TS : i

The crowd at the temple in the foothill used to ‘;Qighj_v unorganised, especially the food counte
where prasadant was served. Hot and spicy puffed kite and tea made of jaggery were the delectable
combination of food and beverage every devotee cta&;lf}[or. y

Going to the temple used to be the last priofity™of us children. Fearing elders’ wrath, we wi
hurriedly finish the formality of darshan. : :

129. Study the following statements :

(a)  Children were given enough pocket money on the fair day. '—

(b)  Small children would travel with their parents in a separate cart.

(c)  Well-to-do villagers liked to oblige the writer’s father. 7

(1) (a) and (b) are wrong but (c) is right.

,jé) (a) and (b) are right but (c) is wrong.
<~ (3)  (b) and (c) are right but (a) is wrong,. 2
() (a) and (c) are right but (b) is wrong, £ /
130. Which one of the following statements is not
(1) Prasad distributed there was very deliciods,
(2)  People visited the fair for divine blessings.s=
(3)  Most of the people visited the fair only fomma.rket. (o=
i M) Prasad distribution was quite chaotic. .
131, ich one of the following statements is true ?
People visited his home town for religio also.
(2)  The narrator's home town was in a remo! a.
(3) Life was comfortable in all Tespects, e I
{4) It was known for an annual fair, & i Y
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o The devolees thy
13 i —ENEEd the fayy,
Choose * Opton w!\il'_‘h
is nea

(1) APEISCEeR TEst in meaning to the underlined word

) att
4 '] used to eagerly Took o (3)  wisited (4) crowded
o ——— fm-wam .
Chioose the word oy et

; : - e
4»  indifferently feaning to the inied one.
study the folloy ) heartily ( measily (4) easily
(a) \ &)

(b) it \rety careful while mﬁing in the cart.

(1 enjoyable.
(2) (Ba%ight and (b) is wrong.
a) and (b) are right:
g8 (@8]

3)
(3) Pronoun (4) Adjective

Jearners for colouring and drawing as it

i helps in :
ally motivates
teaching,

silence in the class.

N
owledge, g@md attitudes that students should acquire by
ITse COme i == ot
: (2) teaghing outcomes

(4) n@acy outcomes
and peer fntetaction in her classroom. She does not bother
errors. Sh ing approach in her classroom.
onal {3; Eclectic AA)  Structural
twa pictures of the same person - one picture taken 15 years
initiate a talk in the class about his present and past - his
are using :
(2) Prescriptive Grammar
(4) Pedagogical Grammar
topic “PoflBon’ what will be your first step ?
o (2] JjPrepare introductory questions
times (Wect teaching aids
and without@hy systematic practice, it is called :

A3 SAcquisition  (4)  Acceptance

hayedere i u-
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143, I.mm:isu-: competence enables learners o

(1) use more and more English s

w u ey Bnc
() differentiate grammatically correct and incorrect sety
() speak fluently even if not grammatically correct |
; - ately
) Jnow how and when to use the language appropriatel}
rewdriver efc to her class. She aaks i

that the teacher briny :

-~ -
184, A teactier brings real-life objects like umhrellﬂ-{r@'“”“" “_n abials
bearmers to describe the objects in two to three(sentences. The

the class is technicallycalled _ . ()
Language input

) Realia (2)
(3)  Teaching instruments (4) Tools
145. Today oA 5 inato sd,&ﬁ:ﬁ_[u is the first from his family to come 1.0 ha
Novie t.‘f‘?:'.,,“;a‘ ;fj{y'jj\l;r:);z:e];;  atents, had fykr been enrolled in any school. Raju is gy
learner.
(1) M"‘"r"'.\" (2) First generation
(8 Second generation A4 Marginalized

£45 .()"‘e of the impartant featires of is that the learners solve problems collectively-eithe
N a pair or in a group.
(1) structural approach
(2)  communicative language teaching GD
(3] behavipurist approach C_-.D
’Jﬂ whole ]a.ngunge approach Cj
147. A teacher asks her Je Tit on ‘water’. Then the learners start disc “ﬂl‘ in;
what they h::e be:;af:i:h:a mwm;;ema:{%tl science classes, Then they begin to writsy
Pparagraph on water. This is an example of :
(1} Communicative approach (2)
(3)  Language of science e
148. You as a teacher find that the language used in the lessan is very difficult for your leamers. u
simplify the language and also make certain changes in the content to suit your learners. What
you have done is called i

guage in use
guage across curriculum

(1) Review (2) Adopting ‘P) Adaptation (4) Evaluation b
149. You were born and brought p in a village where everybody spoke Hindi and you too began

this language without going to any school. when you went to school you stu
Sanskrit, Hindi and Urdu, Now, You spea glish very [luently. Now which ;

language ?
(1) Sanskrit (2) English E Hindi

150. When you go to teach, you find that the
with the alphabet. Which approach does this of arrangement suggest in
(1)  Aesthetic approach (2) ™ up approach

([3} Top down approach (4) approach
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